
1.  An	
  object	
  ini-ally	
  at	
  rest	
  breaks	
  up	
  into	
  two	
  pieces	
  of	
  unequal	
  
masses	
  when	
  a	
  spring-­‐loaded	
  device	
  is	
  released.	
  Let	
  K1	
  be	
  the	
  kine-c	
  
energy	
  of	
  the	
  larger	
  mass	
  and	
  K2	
  that	
  of	
  the	
  smaller	
  mass	
  right	
  aBer	
  
they	
  separate.	
  Which	
  of	
  the	
  following	
  statements	
  is	
  correct?	
  	
  

	
  	
  	
  	
  (A)	
  K1	
  >	
  K2	
  	
  	
  	
  	
   	
  (B)	
  K1	
  <	
  K2	
  	
  	
  	
   	
   	
  (C)	
  K1	
  =	
  K2	
  	
  	
  
	
  
P1=m1v1	
  	
  P2=m2v2	
  	
  	
  	
  but	
  P1=P2	
  	
  à	
  v1=	
  (m2/m1)v2	
  
K1=	
  ½m1v12=	
  ½	
  m1	
  (m2/m1)2	
  v22	
  	
  =	
  (m2/m1)	
  (½m2v22)	
  =	
  (m2/m1)	
  K2	
  
Since	
  (m2/m1)<1	
  we	
  have	
  K1	
  <	
  K2	
  à	
  Correct	
  answer	
  is	
  (B)	
  
2.  A	
  railroad	
  car	
  of	
  mass	
  m	
  and	
  speed	
  v	
  collides	
  and	
  s-cks	
  to	
  an	
  

iden-cal	
  railroad	
  car	
  that	
  is	
  ini-ally	
  at	
  rest.	
  ABer	
  the	
  collision,	
  the	
  
kine-c	
  energy	
  of	
  the	
  system	
  is	
  

(A) ½mv2 	
   	
  (B)	
  ⅓mv2 	
   	
  (C)	
  ¼	
  mv2 	
   	
  (D)	
  ⅛	
  mv2 	
   	
  (E)	
  mv2	
  
	
  Pini-al	
  =	
  mv	
  	
  	
  	
  	
  Pfinal	
  =	
  2mvfinal	
  	
  	
  	
  à	
  vfinal	
  =	
  ½	
  v	
  
Kfinal	
  =	
  ½	
  (2m)	
  vfinal2	
  =	
  ¼	
  mv2	
  	
  	
  à	
  Correct	
  answer	
  is	
  (C)	
  



3.  A	
  red	
  ball	
  with	
  a	
  velocity	
  of	
  +3.0	
  m/s	
  collides	
  head-­‐on	
  with	
  a	
  yellow	
  ball	
  of	
  
equal	
  mass	
  moving	
  with	
  a	
  velocity	
  of	
  -­‐2.0	
  m/s.	
  	
  What	
  is	
  the	
  velocity	
  of	
  the	
  	
  
yellow	
  ball	
  aBer	
  the	
  collision	
  	
  

(A)  +3.0	
  m/s 	
  (B)	
  0 	
  (C)	
  -­‐2.0	
  m/s	
  (D)	
  +2.5	
  m/s 	
  (E)	
  +5.0	
  m/s	
  
Pini-al	
  =	
  mv1init	
  +	
  mv2ini-al	
  and	
  Pfinal	
  =	
  mv1final	
  +	
  mv2final	
  	
  	
  (red	
  is	
  1,	
  yellow	
  is	
  2)	
  
à	
  v1final=	
  v1init	
  +	
  v2ini-al	
  –	
  v2final	
  
½mv21init	
  +	
  ½mv22init	
  =	
  ½mv21final	
  +	
  ½mv22final	
  
à	
  v21init	
  +	
  v22init	
  =	
  v21final	
  +	
  v22final	
  
à v21init	
  +	
  v22init	
  =	
  (v1init	
  +	
  v2ini-al	
  –	
  v2final)2	
  	
  	
  +	
  v22final	
  
à 0	
  =	
  2	
  v22final	
  –	
  2	
  v2final	
  (v1init	
  +	
  v2ini-al)	
  +	
  2	
  v1init	
  v2ini-al	
  	
  
à  	
  This	
  has	
  two	
  solu-ons	
  

1.  v2final	
  =	
  -­‐2	
  m/sec	
  	
  	
  (which	
  is	
  the	
  trivial	
  solu-ons	
  where	
  nothing	
  happens)	
  
2.  v2final	
  =	
  +3	
  m/sec	
  	
  	
  à	
  Correct	
  answer	
  is	
  (A)	
  

Of	
  course	
  we	
  could	
  have	
  saved	
  us	
  all	
  this	
  work	
  by	
  no-ng	
  that	
  the	
  two	
  masses	
  
are	
  the	
  same	
  and	
  obviously	
  a	
  solu-on	
  where	
  we	
  exchanged	
  the	
  veloci-es	
  of	
  
the	
  read	
  and	
  yellow	
  ball	
  would	
  sa-sfy	
  conserva-on	
  of	
  both	
  energy	
  and	
  
momentum	
  	
  



4.  An	
  elas-c	
  collision	
  of	
  two	
  objects	
  is	
  characterized	
  by	
  the	
  following	
  	
  
(A)	
  Momentum	
  is	
  conserved	
  	
  	
  	
  	
  	
  	
  (B)Kine-c	
  Energy	
  is	
  conserved	
  	
  	
  
(C)	
  Both	
  (A)	
  and	
  (B)	
  	
   	
   	
   	
  (D)	
  Neither	
  (A)	
  nor	
  B	
  	
  
	
  
Correct	
  answer	
  is	
  (C)	
  	
  	
  	
  	
  	
  	
  This	
  is	
  the	
  defini-on	
  of	
  elas-c	
  collision	
  
	
  
5.  A	
  75	
  Kg	
  swimmer	
  dives	
  horizontally	
  with	
  speed	
  4	
  m/sec	
  off	
  an	
  

ini-ally	
  sta-onary	
  500	
  Kg	
  raB.	
  	
  What	
  is	
  the	
  speed	
  of	
  the	
  raB	
  
immediately	
  aBer	
  the	
  dive?	
  

	
  	
  (a)	
  0	
  m/sec	
  	
  	
  	
  	
  	
  	
  (b)	
  0.2	
  m/sec	
  	
  	
  	
  	
  	
  	
  (c)	
  0.5	
  m/sec	
  	
  	
  	
  	
  	
  	
  (d)	
  0.6	
  m/sec	
  	
  	
  	
  	
  	
  	
  (e)	
  4.0	
  m/sec	
  

	
  

PraB	
  =	
  Pswimmer	
  =	
  mswimmer	
  vswimmer	
  	
  	
  	
  	
  and	
  PraB	
  =	
  mraB	
  vraB	
  
à VraB	
  =	
  mswimmer	
  vswimmer	
  /	
  mraB	
  	
  =	
  75	
  *	
  4	
  /	
  500	
  m/sec	
  =	
  0.6	
  m/sec	
  

Correct	
  answer	
  is	
  (D)	
  


